Question 1:
Add a do while expression to the interpreter. A do while statement is as follows:
(let ([x 0]) 
(do-while 
((set! x (+ 1 x)) (display x)) 
(<= x 3)))

Question 2:
Why is having code in imperative form useful/important?

Answer 1:
(define-datatype expression expression?
…
  [do-while-exp
    (bodies (list-of expression?))
    (condition expression?)]
…
(lambda parse-exp …
[(eqv? (car datum) 'do-while)
              (do-while-exp (map parse-exp (2nd datum))
                (parse-exp (3rd datum)))]
…

(lambda syntax-expand …
      [do-while-exp (bodies condition)
        (do-while-exp bodies condition)]
…

(define-datatype continuation continuation…
[do-while-k
    (condition expression?)
    (bodies (list-of expression?))
    (env environment?)
    (k continuation?)]
  [do-while-k-helper
    (condition expression?)
    (bodies (list-of expression?))
    (env environment?)
    (k continuation?)]…
(lambda apply-k
…
[do-while-k (condition bodies env k)
        (eval-exp condition env
          (do-while-k-helper condition bodies env k))]
      [do-while-k-helper (condition bodies env k)
        (if val
          (eval-bodies env (do-while-k condition bodies env k))
          (apply-k k (void)))]
…

(lambda eval-exp
…
[do-while-exp (bodies condition)
        (eval-bodies env (do-while-k condition bodies env k))]
…

Answer 2:
[bookmark: _GoBack]Code written in imperative form will work in any language that has basic datatypes, record structures, variable assignment, if, go to, and begin. This allows for complex code to be written in almost any language.
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